AP Calculus AB
d
1. Consider the differential equation: EDt_, = tcos(t?)

Morning Quiz Review: 6-2, 6-3, and Slope Fields

a. Find the particular solution if y ( \/-723) =1

b. Write the equation of the line tangent to y(t) at (\/E%)

c. Use the tangent line to approximate y(1.3)

2. The rate of depreciation of a property value, y, is directly proportional to the value at any given time, t.

a. Write the differential equation and find the general solution

b. Given that 1960 represents t = 0 and that it takes 40 years for the property value to decrease by half. Find the property value in

1960 if in 1987 the property value is estimated to be $125,000.

(Round to the nearest dollar)
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3. Match the differential equations to correct slope fields above:

-

dy
. ey ¥
1.

dy .

2o ¥

dy

ii.

4. Match the general equations to the correct slope field
above:

i y=x"-x+C

ii y=Cez
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AP Calculus AB Morning Quiz Review 6-2, 6-3, and Slope Fields
1. Consider the differential equation: %— = tcos(t?)

a. Find the particular solution if y ( \/%) = , b. Write the equation of the ]me tangent to y(t) at (ﬁ J- )
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c. Usethe tangent line to approx1mate y(1.3)
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2. The rate of depreciation of a property value, y, is directly proportional to the value at any given tlme t.

a. Write the differential equatlon and find the general solution
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b. Given that 1960 represents t = 0 and that it takes 40 years for the property value to decrease by half. Find the property value in
1960 if in 1987 the property value is estimated at $125,000. (Round to the nearest dollar)
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3. Match the differential equations to correct slope fields above: 4. Match the general equations to the correct slope ﬁeld
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